
ICT in EFL credit test, MA2, 31/01/2014. 
Circle the best answer 
 
1. The [Ctrl-Shift] keypress combination may be risky in: 
(a) photo editing, 
(b) Android, 
(c) password entry, 
(d) older keyboards, 
(e) Windows 8.1. 
 
2. “Teachers should know about Facebook!”. In terms of Technology Skills that Every Educator 
Should Have, this appeal refers to: 
(a) Electronic Presentation Skills, 
(b) Web Navigation Skills, 
(c) Social Networking Knowledge, 
(d) File Management Skills, 
(e) Videoconferencing Skills. 
 
3. Krajka showed in his book that FLT blogging fails because: 
(a) FL learners don't blog in school, 
(b) FL learners don't blog at home, 
(c) FL teachers don't blog in school, 
(d) FL teachers don't blog at home, 
(e) for other reasons. 
 
4. One problem with using sound waveform graphs in FLT is that they: 
(a) are hard to generate computationally, 
(b) do not show very well on LED screens, 
(c) are rare to find among FLT CD-ROM software, 
(d) need very good quality microphones, 
(e) are hard to interpret by learners. 
 
5. The sequence of IC technologies making most sense is: 
(a) StS � MT, 
(b) SL � MMORPG, 
(c) NLP � PAV � CMC, 
(d) VW � MUVLE � TTS 
(e) ASR � MT � TTS. 
 
6. The two metaphors to capture the concept web1-2-3 we talked about are: 
(a) dimensional and spatial, 
(b) dimensional and generational, 
(c) spatial and chronological, 
(d) generic and particular, 
(e) prepositional and adverbial. 
 
7. According to the 2013 Horizon Report, within one year we can expect the educational adoption of: 
(a) Virtual Worlds, 
(b) Web3, 
(c) 3D printing, 
(d) MOOCs, 
(e) PAV. 
 
Best answers: 1c, 2c, 3b, 4e, 5e, 6a, 7d. 


